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Q1: (40 Marks)

On 1 January 2016 P Limited acquired 57% of the equity shares of S Limited. The statement of
financial position (Balance Sheet) is shown below (all figures in the question are in thousands of

USD):

Plant, property and Equipment

Investment in S Limited
Current assets

Total Assets

Current liabilities

Long term loan

Share capital ($1 shares)
Retained Eamings

Total liabilities and equity
All assets and liabilities of S Limit

P Limited S Limited
110 18

1736

120 38

266 56

30 5

3 5

170 e
35 12— 3¢
266 56

controlling interests are valued at their proportionate share of the identifiable net assets of S

Limited.

Prepare a consolidated statement of financial position of the P Limited Group at 1 January 2016.

C. v ()F ijmw (57,136

+ NeT (Y34)
“Fv o pet fesets

= Gooduw

15.4%
(36)

|16.48

P Limited | S Limited o | Consolidated figures
soo0 | sooo |u“\° | B | 937 $ 000
Assets ‘ S
Plant, property and 110 18 ks o il
Equipment ——
Investment in S Limited 36 - -34 o il o
Goodwill : . 15.1q 15.48 7
Current assets 120 38 l6g /
Total assets 266 56 30l.43
Liabilities
Current liabilities 30 5 35 <
Long term debt 31 15 ye
Equity
NCI s 5. 43
Share capital 170 24 RITTY Tr /’
Retained Earnings and 35 12 )
Reserves O 4.8y |-5:1¢ 265
Total liabili(ies and ) 266 56 .
equity 30148
2
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Blue plc owns 31% of the equity shares in its associate company, Orange Limited. During the
year ended 31 December 201 5, Orange sold goods to Blue for $500,000, which included a profit
of $140,000. A quarter (22%) of these goods are still held in the inventory of Blue at 31
December 2015. G
Required old =25
1- What is the amount of unrealized profit associated with the above transaction
2- What is the journal entry that should be recorded to eliminate the unrealized profit and
which company records it?
Answer _ Question 2

1- What is the amount of unrealized profit associated with the above transaction

wnredized vedit o prdil Yeguity v, X wsaldy,
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2- The journal entry that should be recorded to eliminate the unreplized profit ?
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Bread Plc is the parent of 2 group of companies. On 1 January 2015, Bread Plc acquired 31% of
the ordinary share capital of Sandwich plc at/cost of $ 161,000 At this date, the fair value of

goodwill? What is the value of this goodwill? (S
B) Negative goodwill is included as income in co
associate’s profit/loss in the period in which the invéstment is mad
(A TRUE
B -FALSE

2- Journalize the required entry in the books of Bread at 1 January 2015

3- Journalize the required entries in the books of Bread at 31 December 2015

4- What is the carrying value for the investment in Sandwich in the books of Bread at 31

December 2015
S- An example of an upstream transaction is the sale of goods by an investor to an
associate:
A - TRUE . e B
Investo,
(B- FALSE b hoC, e

Answer _ Question 3

1- A) Did the acquisition of the 31% share in Sandwich result in a positive or negatj

goodwill? What is the value of this goodwill? (Show calculations )
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B) Negative goodwﬂl is included as income in computing the investor’s sh
associate’s profit/loss in the period in which the mveslment is m
A&)- TRUE -%
B - FALSE

2- Journalize the required entry in the books of Bread at 1 January 2015
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3. Journalize the required entries in the books of Bread at 31 December 2015 T
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4~ What is the carrying value for the investment in Sandwich in the books of at 31
December 20157
18lyooo . — 3B 21, = 181,925

/

5- An example of an upstream transaction is the sale of goods by an investor to an

associate:
b e T
A - TRUE fwveshor
o A '
FALSE Sociclhel sgics
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Q4: (10 Marks)

On 1 January 2008, Blue PLC paid $ 3M to acquire 31% of the equity share capital of White plc.
The fair value of net assets of White at 1 January 2008 was $ 6M. The accumulated losses for
White plc for the three years ended 31 December 2010 amounted $ 12 M. However, White earns
a net income after tax of 6 M in 2011. 3

What is the required accounting entry at 31/12/2011 (record share of profit of Blue PLC)?
Answer _ Question 4

Journalize the required entry at 31/12/20117
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